[Attachment 2]

- 29 FAQ

74

FOIJF AULIR?

X

o

oipcte

PRCS JI&

1.

IBS

I 20189 2 H

JU
o3

<+
oll

Rl

ol

I9)

o[

Lo XN o
IT 20 T

&S =0l

<D
o3

r
o)
m|E

i
&l

]
A

oJ
Rl
KJ
A

H 2dEUR?

0]
—J

2. PRC= (o
A. PRC

HARANEez2 AHEH

Oll=

Olthel Clot

50l

i
[—

d, M=
Cle

)

o)

-

Al

-

Al

olpUE,
0137

=2 O
=

2F
=

Ol & BH=Z O

o]
I0

)

ol
qlt

oK
o

&l

T

JA
ol

o)

o

ae

&l

hR?

0l
oll
1)

JIJ

A0

?.

3. Cl¢t

FHXE

A =42

ol
=

A. Ul

T

Ol &F

I—Igl

4 Al

X3 A
Ol&~159 DIEH=E HHEN FHotlUR?

Cl

4.

el M=l

tH’ II-[:”

=
=
-

B2 Q1ZH[, &8l AIAE

g

I d

—_

~J

&l



2|etod 2|

0o
<+

&l

1Ho
!

&l

B E2 A0

CH et

(]
T

=

240l

X
=

SU&Ehl,
JtHEOIA
SI(SAB)OIA Ol &F

o

H

AL

o

2|

=22 &

HRILICH.
NINEE

I

oF

&3

C
JAS0UHA =0

ARE

Off &F

HALE
ZE LI

Cl

UL H,

F

A
e

HE

HA

=

=

& X

tHCOl
= 1 —

-
{I

H 2EEUR?

.|

5]
-

2= of
Xl

10

LAY

~

i
my

—_

</

i

A0 MIAIE S0

=)
=

R

A. CI

0%
DS

LIC}.

HXIOH,
O &

0

=

=

&

o

dg UL

-/

Hemoz
=1

= H20bMle 4301 C

—

gt

6. Cl2 &FHH &0 0E EHl=z SESHLIR?

|
0
o3
<

]l
30

ol

Ol

Kl
)
80
or
ok
&l

Mﬁ
X

4r
ot

i

oF

N

ml
00

ol

Ol
oH
ok

&)
o0

®

INE=Y

<0

o

oln
Gl

10

&J
un

Kl
oJ
30

o)
Ok

&

10

LHO

o]

KO
@

4
<
o

g =

== 28 Olt=



ol
Ul

tHLER?

HOF

o}

7. CIZ2 &3 Al, 20248 102 Al A7 =H+=F ol Of

grLIth.

0

A=
=

8

017 =

IBSOIl A

2024¢ 10 A

A. dl.

108 Xl

ot0ll 2025

i

o
ulr

0
o3
3

ol
K0
Y

ol
RO

<F
KM

&l

H ELR?

2 og

I SotH 82 65AMILIL

9. CI<

ol
KK

I9)

o0
)

-

KO
o

I9)

~

2 HEN ZLK?

HAE=2

0

il

ol

LK

D

10. Cl €321

J

=

2 S o3l

o1

Clet

2t CIob 0ld=

A.

oll
(HO

0l
il

ol
&J

UlJ
3

ml!
0

O
r

ol
qlt

IBS W= Z X0

ot

o=z

_x_.
OF)

oln
040

=
=
[0
ol

T

ol

oJ
ME

LR ?

Hgol=

&3
J

ioll
6
<F
U

B
i

I

11.

KM
oH

=10

& =20l

IBS

Cl=

A.

Gl
i

oJ

KK

|
)

<

)

clofl OF &fLILH

]
T

clJ|2h ¢t Ot

= X
— o

}

s E&0l o

TEPN]

Cl

- Xt It

}

hR?

ol
Jlo

R0
<



13.

14.

15.

16.

Ao Ul JFSELUCH ©, JIZAPAY 4BIF ClR HEE
22, o Ha AJlE Il &# Zo ATAY (SH)
Z2AHOR Y 4 YsLC

Cl ¢g3218°2 H4tl= HEH 22lotLiR?
A. IBSIt AHIE HE 2l LILCH

Q
e
4
|J
]
=
Q
o

2z
S
05
S|

S 3@ =12 AMSLICL HPES 26 S0
AME BrAlo] ZAFA(FIL Ot B HE)S Al#at,
0l% 33 =J|2 MUEIIS AT

A. PRC GAl L& A-EM D&M dH8IOE Soll AlS
NEHFE 2L PRCE &&= Cl g )88=
y, g§o2

OIF0HXIH, &
C

AN Y

Cl g18°9 gz gdst == NAIMMHES ARA2
OICIo AULtR?

A. g 238 g2l sgotil Cl 8152 H-0H =
22 20HE F-RE LS (=2, NATHAA S)2
a7dE2 RS2 IBSH UsLIL. Ut =22 &% IBS
ol2lel JI20l 5= 21 US R ot A =
AUSLICH

0

17. CIOt 2% = AILZ 2ol HRE =8g £+ fl= 32, g

CIRIES HEH YUR?
A, OI2 29 GREHo] GREHE0l ACAHL AD2 0150



tAL Clel 32 = Al

Fe SZ0

1

2

J
3

<F
oll

-
o

e

i
OF

Kl



